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Reading Passage (1) A%

°

Child labor is mostly co ted in Asia a&B\Africa, which together account
for more than 90 percent of child employment. Though there are more child
workers in Asia than anywhere else, a higher percentage of African children
participate in the labor force. Asia is led by India which has 44 million child
laborers, giving it the largest child workforce in the world. In Pakistan, 10
percent of all workers are between the ages of 10 and 14 years. Nigeria has 12
million child workers. Child labor is common in South America. For example,
there are 7 million children working in Brazil. Children work for a variety of
reasons. The most important is poverty. Children work to ensure the survival of
their family and themselves. Though children are not well paid, their income is
important to their family. For example, children in Paraguay provide almost a
quarter of the total family income.

14- In Paraguay a child’s income makes of the total family income.
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